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20204 =R EEEE EREEEE &&t
= A | oEm | oAz | B | Az | oBm | Asm | B
MmEREBEEF)/N(]D) 11,136 16,314 9,598 14,678 7429  11217] 28,163 42,209
EEj2R)/N(T) 12,475 22,535 2,830 4,605 15,305 27,140
Be FAAEIRBE U /N(T) 11,974 15,796 4,028 5,164 3,320 4157 19,322 25117
FEIRSR /N (1) 1,029 1,387 302 424 1,067 1,455 2,398 3,266
DRMEZRE)/N(]D) 5,222 8,768 258 324 5,480 9,092
AAEBEYNEYTF—a 1486 2088 343 472 246 342 2,075 2,902
43322 66,888 17,359 25667| 12,062 17,171] 72,743| 109,726
2021 R EEEE SREEREEE =1
= A | oEm | oAz | B | Az | oBm | Asm | B
INMEREBE)/N(T) 11,470 18,746 9,753 15,904 6,499 9,944 27,722 44594
EBHEIZZU/N(T) 14,927| 28,488 3,497 6,071 18,424| 34,559
FEREEEY/N(C]D) 11,215 15,933 1,372 1,870 1,694 1,975 14,281 19,778
FEIRES)/N(CT) 3,202 4,445 379 563 1,711 2,193 5,292 7,201
IDRKMERE)/ANCT) 5,509| 10,373 229 339 5738 10,712
AAEBEYNEYTF—a 2491 3744 415 610 250 281 3,156 4,635
48814 81,729 15645 25357| 10,154 14,393] 74,613| 121,479
20224 SRR EEEE SREEEE &t
= A% | B | A% | B& | A% | B A | B
INMmEREF)/NCI) 11,310 18,787 11,154 19,188 6,448 9208 28912 47273
EBHEIZZU/N(I) 14541 30,280 2,182 3,843 16,723| 34,123
FEREEEY/N(C]D) 11,387 16,408 1,034 1,495 1,417 1,649] 13,838 19,552
FEIRES)/N(CT) 4,681 5,998 423 617 1,938 2,363 7,042 8,978
IDRKMERE)/NCT) 5,381 9,093 140 256 5,521 9,349
AAEBYNEYTF—a 4543 6504 751 1024 258 438 5,552 7,966
51,843 87070] 15,684| 26,423] 10,061 13,748] 77,588| 127,241
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